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Vertical Division

Name:

Solve each problem.

1)

10706

4)

20(636

7)

60[588

10)

60(660

2)

40[400

5)

50[132

8)

60(840

11)

30[690

3)

10400

6)

60(618

9)

20(973

12)

90[540

10.

11.

12.

Answers
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Vertical Division

Name:. Answer Key

Solve each problem. ANsSwers
1) 7016 2) 10 3) 40 1 016
10[706 40[400 10[400 |
0 0 0 2 10
70 40 40
70 40 40 3. 40
06 00 00 4 31rl16
0 0 0
6 0 0 s 2r32
4) 31r16 5) 2132 6) 10r18 . 10r18
20(636 50[132 60(618
0 0 0 ; 9r48
63 13 61
60 0 60 8. 14
36 132 18 . 48113
20 100 0
16 32 18 10, 11
7 9r48 8 14 9 48r13 " 23
60[588 60(840 20(973 |
0 0 0 12, 6
58 84 97
0 60 80
588 240 173
540 240 160
48 ) 13
10) 11 11) 213 12) 6
60(660 30[690 90[540
0 0 0
66 69 54
60 60 0
60 90 540
60 90 540
0 0 0
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Vertical Division Name:
Solve each problem. Answers
31r16 2132 9r48
48 r13 70 r6 10
14 40 10 r18
1) 2) 3)
10|706 401400 101400
4) 5) 6)
20636 50(132 60618
7) 8) 9)

60[588

60(840

20[973
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